Word Problem Involving Addition

Read and answer each problem. Encircle the letter of the correct
answer.

1. Grandfather i gave us 4 squashes ‘ and ? eggplants 4

How many vegetable in all did grandfather give us?
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A. 8 vegetables B. 11 vegetables C. 13 vegetables

2. on our way home from the farm, we stopped to let 8 goats %
Liwg

and 5 cows ’f.‘". cross the highway. How many animails in all

crossed the highway?
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A. 10 animals B. 13 animals C. 15 animals

3. We went to market and Mother bought 8 ’pineopples and 6
watermelons @}
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A. 10 animals B. 13 animals C. 15 animals
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